Converting Between kg and g (A)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <+ i — i i > X
G M k h dai 'd ¢ m 2 n
987654321:_?"5-1-2-345-6789

1. Convert 0,00259kg to g

2. Convert29,2kgtog

3. Convert 0,083 kgtog

4. Convert 947.000 g to kg

5. Convert 660 g to kg

6. Convert 0,69kgtog

7. Convert 7.930.000 g to kg

8. Convert 0,7436kgto g

9. Convert 33.000 g to kg

10. Convert 5.300.000 g to kg
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Converting Between kg and g (A) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 0,00259kg to g
0,00259kg x 10 X 10 X 10 = 2,59 g
2. Convert29,2kgtog
29,2kg X 10 X 10 X 10 = 29.200 g
3. Convert 0,083 kgtog
0,083kg X 10X 10 X 10 = 83 g
4. Convert 947.000 g to kg
947.000g -~ 10 +~ 10 = 10 = 947 kg
5. Convert 660 g to kg
660g +~ 10 + 10 +~ 10 = 0,66 kg
6. Convert 0,69kgtog
0,69kg X 10 X 10X 10 = 690 g
7. Convert 7.930.000 g to kg
7.930.000g + 10 = 10 = 10 = 7930 kg
8. Convert 0,7436kgto g
0,7436kg X 10 X 10 X 10 = 743,6 g
9. Convert 33.000 g to kg
33.000g + 10 = 10 = 10 = 33kg
10. Convert 5.300.000 g to kg
5.300.000g +~ 10 + 10 + 10 = 5300 kg
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Converting Between kg and g (B)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< on o © 8¢ 5 a8 = 3) g
Q — 1 = o

B 2 ¥ 2 31 18 8 E E g
-— < : i : : > X

G M k h da, *d ¢ m M n

9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert 0,097kgto g
2. Convert 0,7981kgto g

10.

Convert 68,6kgto g
Convert 381.300 g to kg
Convert 7500 g to kg
Convert 13.220.000 g to kg
Convert 0,075kgto g
Convert 0,00081kgto g
Convert 5.400.000 g to kg

Convert 28.930.000 g to kg
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Converting Between kg and g (B) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 0,097kgto g
0,097kg X 10X 10X 10 = 97 g
2. Convert 0,7981kgto g
0,7981kg x 10X 10 X 10 = 798,1 g
3. Convert 68,6kgtog
68,6 kg X 10 X 10 X 10 = 68.600 g
4. Convert 381.300 g to kg
381.300g = 10 + 10 + 10 = 381,3 kg
5. Convert 7500 g to kg
7500g + 10 + 10 + 10 = 7,5kg
6. Convert 13.220.000 g to kg
13.220.000g = 10 = 10 + 10 = 13.220kg
7. Convert 0,075kgto g
0,075kg X 10X 10X 10 = 75g
8. Convert 0,00081kgto g
0,00081 kg x10x10x10=10,81g
9. Convert 5.400.000 g to kg
5.400.000g +~ 10 + 10 =+ 10 = 5400 kg
10. Convert 28.930.000 g to kg
28.930.000g + 10 + 10 =+ 10 = 28.930 kg
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Converting Between kg and g (C)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o 9 Lo o o o
& & S B 8: S 2 = § &
& £ T 281 18 8 % z 3
— < : T : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert4,789kgto g
2. Convert 79.000 g to kg
3. Convert 0,05952kgto g
4. Convert 9,374kgto g

10.

Convert 407.500.000 g to kg
Convert 929.200 g to kg
Convert 450.000 g to kg
Convert 12,8kgto g
Convert 6,17kgto g

Convert 174.500.000 g to kg
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Converting Between kg and g (C) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert4,789kgto g
4,789kg X 10 X 10 X 10 = 4789 g
2. Convert 79.000 g to kg
79.000g + 10 + 10 + 10 = 79kg
3. Convert 0,05952kgto g
0,05952kg x 10 X 10 X 10 = 59,52 g
4. Convert 9,374kgto g
9,374kg X 10 X 10 X 10 = 9374 g
5. Convert 407.500.000 g to kg
407.500.000 g = 10 + 10 + 10 = 407.500 kg
6. Convert 929.200 g to kg
929.200g + 10 + 10 + 10 = 929,2kg
7. Convert 450.000 g to kg
450.000g ~ 10 =+ 10 = 10 = 450 kg
8. Convert 12,8kgtog
12,8kg X 10X 10 X 10 = 12.800 g
9. Convert 6,17kgtog
6,17kgx10x 10X 10 = 6170 g
10. Convert 174.500.000 g to kg
174.500.000g - 10 = 10 =+ 10 = 174.500 kg
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Converting Between kg and g (D)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o S ; : = o )

5 & e g 8y 13§ E 2 S =

& £ T & % 1% 8 E E g
- < : — : : > X

G M k h da, *d ¢ m M n

9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert 0,226 kgto g
2. Convert 120.000 g to kg

10.

Convert 1.701.000 g to kg
Convert 9,863 kgto g
Convert 880.000 g to kg
Convert 69.900 g to kg
Convert 2.500.000 g to kg
Convert 0,00046 kg to g
Convert 2,718 kg to g

Convert 710,5kgto g
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Converting Between kg and g (D) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 0,226 kgto g
0,226 kg Xx 10 X 10 X 10 = 226 g
2. Convert 120.000 g to kg
120.000g = 10 + 10 +~ 10 = 120 kg
3. Convert 1.701.000 g to kg
1.701.000g -~ 10 +- 10 =~ 10 = 1701 kg
4. Convert 9,863kgto g
9,863kg X 10 X 10 X 10 = 9863 g
5. Convert 880.000 g to kg
880.000g +~ 10 +~ 10 +~ 10 = 880kg
6. Convert 69.900 g to kg
69.900g +~ 10 + 10 + 10 = 69,9kg
7. Convert 2.500.000 g to kg
2.500.000g =10 = 10 + 10 = 2500 kg
8. Convert 0,00046kgto g
0,00046 kg X 10 X 10 X 10 = 0,46 g
9. Convert 2,718 kgto g
2,718kg X 10 X 10 X 10 = 2718 g
10. Convert 710,5kgto g
710,5kg X 10 X 10 X 10 = 710.500 g
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Converting Between kg and g (E)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <+ i — i i > X
G M k h dai 'd ¢ m 2 n
987654321:_?"5-1-2-345-6789

1. Convert 0,00851kgtog

2. Convert 22.650 g to kg

3. Convert 0,646kgto g

4. Convert 0,062kgto g

5. Convert 0,505kgto g

6. Convert 0,0468kgto g

7. Convert 6.230.000 g to kg

8. Convert 2.280.000 g to kg

9. Convert 68.600.000 g to kg

10. Convert 250.000 g to kg
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Converting Between kg and g (E) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. — o
g v 2§ 3 ig E&
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da; ;d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:-1 2 -3 4 -5 -6 -7 -8 -9

1. Convert 0,00851kgtog
0,00851kg x10x10x 10 =8,51¢g
2. Convert 22.650 g to kg
22.650g =10+ 10 + 10 = 22,65 kg
3. Convert 0,646kgto g
0,646kg X 10 X 10 X 10 = 646 g
4. Convert 0,062kgto g
0,062kg X 10X 10X 10 = 62 g
5. Convert 0,505kgto g
0,505kg x 10 X 10 X 10 = 505 g
6. Convert 0,0468kgto g
0,0468kg X 10 X 10 X 10 = 46,8 g
7. Convert 6.230.000 g to kg
6.230.000g + 10 = 10 = 10 = 6230 kg
8. Convert 2.280.000 g to kg
2.280.000 g +~ 10 + 10 + 10 = 2280 kg
9. Convert 68.600.000 g to kg
68.600.000 g = 10 +~ 10 + 10 = 68.600 kg
10. Convert 250.000 g to kg
250.000g ~10 =10 = 10 = 250 kg
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Converting Between kg and g (F)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< on o © 8¢ 5 a8 = 3) g
] — (] 1 — o —

B 2 ¥ 2 31 18 8 E E g
— < : T : : > X
G M k h da. :d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9
1. Convert 0,8453kgto g

2. Convert 630g to kg

10.

Convert 3.812.000 g to kg
Convert 27.100 g to kg
Convert 851,7kgto g
Convert 52,6kgto g
Convert 83.000 g to kg
Convert 0,0086 kg to g
Convert 20,8kgto g

Convert 38.400 g to kg
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Converting Between kg and g (F) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 0,8453kgtog

0,8453kg X 10X 10 X 10 = 845,3 g
2. Convert 630g to kg

630g +~ 10+ 10 +~ 10 = 0,63 kg
3. Convert 3.812.000 g to kg

3.812.000g ~ 10 +- 10 = 10 = 3812kg
4. Convert 27.100 g to kg

27.100g - 10+ 10+ 10 =27,1kg
5. Convert 851,7kgto g

851,7kg x 10 X 10 X 10 = 851.700 g
6. Convert 52,6 kgtog

52,6 kg X 10 X 10 X 10 = 52.600 g
7. Convert 83.000 g to kg

83.000g +~ 10 + 10 + 10 = 83kg
8. Convert 0,0086 kg to g

0,0086kg X 10X 10 X 10 = 8,6 g
9. Convert 20,8kgtog

20,8kg X 10 X 10 X 10 = 20.800 g

10. Convert 38.400 g to kg
38.400g ~ 10+ 10+ 10 = 38,4 kg
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Converting Between kg and g (G)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
& & e g 8y 13§ E 2 S =
& £ T 2 31 1% 8 E E g
- < : — : : > X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert 340.000 g to kg
2. Convert 350 g to kg

10.

Convert 5,904kgto g
Convert 63,3kgto g
Convert 58.900.000 g to kg
Convert 56,4kgto g
Convert 0,031kgto g
Convert 0,72kgto g
Convert 76.000 g to kg

Convert 51.000 g to kg
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Converting Between kg and g (G) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 340.000 g to kg
340.000g =10 + 10 + 10 = 340 kg
2. Convert 350 g to kg
350g + 10 + 10 + 10 = 0,35kg
3. Convert 5,904kgto g
5,904kg X 10 X 10 X 10 = 5904 g
4. Convert 63,3kgto g
63,3kg X 10 X 10 X 10 = 63.300 g
5. Convert 58.900.000 g to kg
58.900.000 g =+ 10 =+ 10 + 10 = 58.900 kg
6. Convert 56,4kgtog
56,4kg X 10 X 10 X 10 = 56.400 g
7. Convert 0,031kgtog
0,031kgx10x10x 10 =31g
8. Convert 0,72kgtog
0,72kg X 10 X 10 X 10 = 720 g
9. Convert 76.000 g to kg
76.000g + 10 + 10 + 10 = 76 kg
10. Convert 51.000 g to kg
51.000g ~10 =10+ 10 = 51kg
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Converting Between kg and g (H)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- | — i i > X
G M k h dai 'd ¢ m 2 n
987654321:_?"5-1-2-345-6789

1. Convert 0,0121kgto g

2. Convert 6.500.000 g to kg

3. Convert 44.000 g to kg

4. Convert1,91kgtog

5. Convert40,87kgto g

6. Convert 96.490.000 g to kg

7. Convert 0,51kgtog

8. Convert 5200 g to kg

9. Convert 49.000 g to kg

10. Convert 34,3kgtog
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Converting Between kg and g (H) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. T o
- < : — : : : : —p» X
G M k h da} ;d ¢ m M n
9 8 7 6 5 4 3 2 1:0i-1 2 3 -4 -5 -6 7 -8 -9
1. Convert 0,0121kgto g
0,0121kgx10x10x10=12,1¢g
2. Convert 6.500.000 g to kg
6.500.000g + 10 =+ 10 = 10 = 6500 kg
3. Convert 44.000 g to kg
44.000g =~ 10+ 10 + 10 = 44 kg
4. Convert1,91kgtog
1,91kg X 10 X 10 X 10 = 1910 g
5. Convert40,87kgto g
40,87kg X 10 X 10 X 10 = 40.870 g
6. Convert 96.490.000 g to kg
96.490.000 g +~ 10 + 10 + 10 = 96.490 kg
7. Convert 0,51kgtog
0,51kg x 10X 10X 10 = 510 g
8. Convert 5200 g to kg
5200g + 10 + 10 + 10 = 5,2kg
9. Convert 49.000 g to kg
49.000g + 10 + 10 + 10 = 49kg
10. Convert 34,3kgto g

34,3kg x 10 X 10 X 10 = 34.300 g
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Converting Between kg and g (I)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base

- <+ i — i i > X
G M k h dai rd ¢ m M n
987654321:_?"5-1-2-345-6789

1. Convert 45.800 g to kg

2. Convert 0,9629kgto g

3. Convert 99.200 g to kg

4. Convert 0,05499kgto g

5. Convert 0,087kgto g

6. Convert 660.000 g to kg

7. Convert 0,55kgto g

8. Convert 49.000 g to kg

10.

Convert 47.700 g to kg

Convert 0,3671kgto g
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Converting Between kg and g (I) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — e
"Bh S % & <' s 8 E £ =
- < : — : : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 45.800 g to kg
45.800g +~ 10 ~ 10 +~ 10 = 45,8kg
2. Convert 0,9629kg to g
0,9629kg X 10 X 10 X 10 = 962,9 g
3. Convert 99.200 g to kg
99.200g + 10 + 10 + 10 = 99,2 kg
4. Convert 0,05499kgto g
0,05499 kg X 10 X 10 X 10 = 54,99 ¢
5. Convert 0,087kgto g
0,087kg X 10X 10X 10 = 87 g
6. Convert 660.000 g to kg
660.000 g ~ 10 +~ 10 +~ 10 = 660 kg
7. Convert 0,55kgto g
0,55kg X 10 X 10 X 10 = 550 g
8. Convert 49.000 g to kg
49.000g + 10 + 10 + 10 = 49kg
9. Convert 47.700 g to kg
47.700g + 10 + 10 + 10 = 47,7kg
10. Convert 0,3671kgto g
0,3671kg x 10 X 10 X 10 = 367,1 g
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Converting Between kg and g (J)

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
& & e 5 81 18 £ = S =
& £ T & % 1% 8 E E g
— < : T : : > X
G M k h da, *d ¢ m M n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 -5 -6 -7 8 -9
1. Convert 789.900.000 g to kg
2. Convert 0,0063kgto g

10.

Convert 5.700.000 g to kg
Convert 9.890.000 g to kg
Convert 0,00052kg to g
Convert 0,8369kg to g
Convert 98,71kgto g
Convert 61.560 g to kg
Convert 420 g to kg

Convert 0,0076kg to g
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Converting Between kg and g (J) Answers

Name: Date: Score: /10

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. o o
"Bh S % & <' s 8 E £ =
- < : e ———— : —p X
G M k h da, *d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0:i-1 2 -3 4 5 -6 -7 -8 -9

1. Convert 789.900.000 g to kg
789.900.000g =+ 10 =+ 10 + 10 = 789.900 kg
2. Convert 0,0063kgto g
0,0063kg X 10X 10X 10 =6,3¢g
3. Convert 5.700.000 g to kg
5.700.000g - 10 + 10 = 10 = 5700 kg
4. Convert 9.890.000 g to kg
9.890.000 g +~ 10 +~ 10 + 10 = 9890 kg
5. Convert 0,00052kgto g
0,00052kg x 10 X 10 X 10 = 0,52 ¢g
6. Convert 0,8369kgto g
0,8369kg X 10 X 10 X 10 = 836,9g
7. Convert 98,71kgto g
98,71kg X 10 X 10 X 10 = 98.710 g
8. Convert 61.560 g to kg
61.560g ~ 10 +~ 10 + 10 = 61,56 kg
9. Convert 420 g to kg
420g =10+ 10 = 10 = 0,42 kg
10. Convert 0,0076kgto g
0,0076kg x 10 X 10 X 10 = 7,6 g
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